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Which disease is completely irradicated
by Vaccination .
(A) Small Pox
(B) Tuberculosis
* (C) Polio
(D) Common Cold
Noise pollution is measured in :
(A) Kelowatt
-(B) Decibel
(C) Hertze
(D) None of the above
DDT is :
(A) Biocontrol Agent
(B) Rodenticide
i(;.}' Pesticide
(D) None of the above
Beauty of Taj Mahal is affected by :

. (A) Oxides of Sulphure

(B) Oxides of Nitrogen
(C) CO,

(D) Chiorine

982\B\2022

1.

(3]

P & 3 Bl @ Srd ded= ¥ g o
IqanRa foear wan

(A) uOD

(B) &am

(C) dferar

(D) BT W

waft sgor &t Ao T St @
(A) focirare

(B) N

(C) &&=

(D) &9t X B &
DDTUS & :

(A) 3 o voe
(B) ASreES

(C) Yrurs

(D) ¥ ¥ B T

TSI Bt Fraxa fesws g1 et & &

2
(A) OB & HTAESH

(B) BTN & NawZEH
(C) co,

(D) TWR=

P.1.0.
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2.~ Who among the following is a Cricket 5. fer % @ st Raemd 22

.

player? .
(A) 3iFH T

. (A) Anjum Chopra

(8) Prem Chopra (8) ¥ ot

(C) Niraj Chopra (C) et =z
(D) I AT

(D) Usain Bolt
6.~ Who is the Chief Minister of Punjab? 6. s ¥ adwr gEA B &
Ay
(A) dIREmT

(A) Kejariwal

(B) Bhagvant Singh Man (B) wraa fig 7=

(C) Manohar Lal Khattar (C) HAER T WX

(D) Pushkar Dhami (D) T=x arll
7. “What is the Capital of Telangana? 7. e @ T a1 82
) (A) Sikandrabad (A) Repetarc

(B) Kolkata (B) PITHII

(C) Shamsabad (C) IHIEK

(D) #E=

(D) Hyderabad
TRaF e @Iy s &AW A

8. Which state of India is known as 'Rhino 8.
State'? ST ST &7
(A) Assam (A) W
(B) Bihar (B) fER
(C) U.P. (C) 300
(D) M.P. (D) wowO
1821812022 [4]
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9!
~

10.

11.

12.

Who is the Governor of Uttar Pradesh?

(A) Ramnaik

(B) Satyapal Malik
(C) Anandiben Patel
(D) Gulam Nabi Azad

Full form of PNG is:

- (A) Piped Natural Gas

(B) Common Natural Gas

(C) Poli Natural Gas

(D) Pom Natural Gas

Port of Paradip is situated in which
state?

(A) West Bengal

(B) Odisha

(C) Karnataka

(D) Goa

Which is the longest river that flows in
India?

(A) Satlaj

(B) Yamuna

(C) Ganga

(D) Chambal

982\B\2022

,

11.

[5]

0.

12.

TR 9T & TR B #?
(A) IS

(B) W Hitrs

(C) =< & A
(D) T T A

PNG &1 [T I &:

(A) 9 FeRer

(B) wmg AgRa

(C) uelt AgRe H

(D) UM AgRe W

TRTEN §EE fo6w g & Rera &7

(A) uf¥ew s
(B) 3&rm
(C) Fles

(D) e
YR ¥ 96 ATl T o K - 22

(A) St
(B) Ty
(C) T™m

(D) T=d

P.T.0.
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13. World Environment Day is celebrated

annually on which date?

(A) 30 May

.(B) 5 June

(C) 2 June

(D) 7 June

A

14. 14th November js celebrated as:

-~

'(A) Children Day
(B) Teachers Day
(C) Hindi Day

(D) Population Day

15. Which of the following is not a synonym

of vaidehi?

(A) Bhomija

(B) Janki

(C) Janak Nandini

(D) Mayank

B\2022

13.

14,

15.

fva wafeor Raw o e Ry =

TR S &2
(A) 307§
(B) 53
(C) 27

(D) 75
14 TR B 74T T &:

(A) ¥ feaw
(B) foners fegw
(C) &=t feaw

(D) e feag
ﬁwﬁﬁﬁ-m‘ﬁﬁ'wmqﬁ
&

(A) Yt
(B) &
(C) s Ffch

(D) Wi
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16. Which of the following is synonym of 1. Fr=r % a9 &Y & vafuarh) &

women?
(A) P
(A) Kundan
(B) &b
(B) Kanak
(C) amm
(C) vVama
(D) Surabhi (D) T
17.- Opposite of word 'Republic' is: 17. ‘Torax &1 foom o= &
(A) Naganya (A) T
(B) Mantra (B) #A
(C) Tantra (C) @
(D) &R
(D) Raijtantra
18. The synonym of 'Kamal' is: 18. T 1 TAET! I &
(A) Saroj (A) TS
(C) Kati (C) 5
(D) Kalika
(D) et
982\812022 (7] P.T.0.
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™ Whih Saman is in Panch Ratha'

VAY Racmadtharava
VY Tatpirash

WY Iwign

(Y Dwanidva

SO Hom the following  which  is  the

example of "Tatpurush Samas'?
(A} Mahapurush
(BY Padchuyut
(C) Triveni
() Pratidin
J1. Opposite of word ‘Saras’ Is:

(A) Niras

(B) Swarthi

(C) Asangat

(D) Isthir

/2. Word 'Charma’ is in which varga from
the following?

(A) Desha)

(B) Videshi

(€) Tadabhava

(D) Tatsam
\B\2022

(8]

i

21,

22.

pey aret’ ) ORR TR LLAL A
1

(A) aetei?l

("} ‘1,-1‘lfl"l
()

() a
@ il ane PTEL (T
gL .

A
(A) wRmen

(B) wawd

(c) Pravi}

(D) T

e o e A &:

(A) ARw

(8) wamelt

(C) 3raTa

(D) Rer

o o Pt anl 3 A R ot o aman 27

(A) 29
(B) RRwh
(C) azya

(D) ey
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23. The Tatsam word for '‘Barah’ is:

(A) Trayodash

(8) Dwadash

(C) Chaturdash

(D) Akadash

24. Choose tatsam word from

following:

(A) Nakshatra

(B) Nakhat

(C) Panna

(D) Poot

25. Tadbhav of 'Saptshati' will be:

(A) Matai

(B) Patai

(C) Satsal

(D) Sai

982\B\2022

23, ‘ERE H dcan I &:
(A) T
(B) &w&w

(C) TGT

(D) usEd

24. = ¥ ‘a9 Bica] adRT:

(A) #em

(B) T&d

(C) war

(D) @
25. WA’ P AGHT EWT:

(A) WS
(B) uas

(C) W

(9] P.T.0.
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26,

foh'owing;
(A) w4

(A) Sarp
(B) T

(B) Purab
(C) @

(C) Lajja
(D) Mayur (B) *

27. Viched of word 'Nishachaya': o

A+
(A} Nie+chaya (A) A+
(8) M+ag
(B) Ni+chaya
(C) Fr+ag
(C) Nihi+chaya
(D) For+ @
(D) Nish+chaya
8. Samas in 'Rajpurushaha’ is; 28. ST H W
{A) Avyayibhav samas (A) I
(B) Dwigu samas (B) ﬁ'{[
(C) Dwandva samas ©) =
(D) TYatpurush samas
(D) ey TR

N\B\2022 [10]
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29. Whatwillbethevigrahof'Pitambaraha'?

30.

31.

32.

(A) Peetam Ambaram yesya saha

(B) Peetamah Ambar yesya sa
(C) Peeta Amber yes saha

(D) Peet Ambaram yesha saha
Samas in 'Neel Kamlam' is:
(A) Bahuvrihi samas

(B) Dwandva samas

(C) Karmdharaya samas

(D) Diwgu samas

Who is the author of
Ramcharitam'?

(A) Sri Harsh

(By Bhavabhuti

(C) Kalidas

(D) Tulsidas

which is the example
Samas?

(A) Neelkanthah

(B) Anurupam

(C) Anushivam

(D) Rashtrapatin

— -y

‘Uttar

of Bahubrihi

29.

30.

31.

32.

(1]

dyarR: &1 faur o dm?
(A) em 3paR o= W
(B) O 3’ g A
(C) e e g9 4
(D) @ 3E<H T9: &:
At FHAY ¥ T -
(n) agitfe T

(B) &% TH™

(C) FHURT THH

(D) fep w9
'ﬁ@ﬂﬁaq'aimaﬂqﬁ?

(A) A&

(B) wayd

(C) I
(D) ﬂ‘ffqﬁ"'

P.T.O.
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33. Who is the author of 'Ramayan'?
(A) Banbhatta
(B) Kalidas
(C) Valmiki
(D) Bharavi
34 Who is the author of 'Kavya Prakash'?
(A) Kalidas
(B) Mammat
" (C) Banbhatta
(D) Bharavi
35. Samas in "Trifala’ is:
(A) Dwandva samas
(B) Avyayibhav samas
(C) Tatpurush samas
(D) Dwigu samas
36. Viched of word 'Diganta’:
(A) Dik+Ant
(B) Digu+Antah
(C) Dig+Ant

(D) Digah+Ant
182\B12022

[12]

33.

34.

35.

36.

rgoT % drEs B &7
(A) aqUTHE

(B) @Iferard

(C) afeaa

(D) ¥Rfd

‘B GBI B AGH P &7
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37. Who is the author of 'Wings of Fire'?

AW

38.

(A) Abul Fazal

(B) Gulam Nabi Azad

_(C) A.P.). Abdul Kalam

(D) Vishnu Sharma

Who is the founder of 'Nyay Darshan'?

(A) Kapil

(B) Gautam

(C) Kanad

(D) Patanjali

'Kutubminar' is situated in which state?

(A) Kerla

(B) U.P.

. (C) Delhi

(D) M.P.

9821B\2022

37.

38.

39.

[13]

3t B T F AES P €

(A) 3 B

(B) T it 3

(C) ©ofoIA0 HGH HeH
(D) fawy

g T B SIS B 87
(A) P

(B) Tiew

(C) TR

(D) it
IR o T # frra 22
(A) W@

(B) 3080

(C) e

(D) wOWO

P.T.0.
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40.
Martand syn temple is situated in

which state?
(A) u.r.
(B) M.p.
(C) Tamilnadu
(D) Orissa
41. Which of the following pair is correct?
- (A) Sikhism - Gautam Buddha
+ (B) Jainism - Mahaveer Swami
(C) Buddhism - Guru Nanak

(D) Christianism - Ananad

42./ Who founded 'Fatehpur Sikari'?

« (A) Akabar

(B) Nurjahan

(C) Shahjaha

(D} Jahangir

982\B\2022

[14]

41,

42,

(A) 3090
(B) WOHO
(C) afterg
(D)

P & & B9 g wd @2
(A) fora o - iem g
(B) 3% o - HER w@nit
(€) @i - T T

(D) 39 o - 3=

BAER W B v ey e
(A) IBR

(B) TxEl

(C) ImEsTet

(D) FEHR
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43. 'Sarnath stup' is situated inwhich city? 43 \RA™ o1 T 5 R W ferm @2

(A) Agra (A) 3MRI
(B) Prayagraj (B) AR
(C) Vvaranasi (C) FRWRR
(D) Bhopal (D)

44, On which day 'Republic day' is 4. ‘o Raw oY W I 22

N
celebrated?
(A) 15 A
(A) 15 August
(B) 26 AR
+ (B) 26 January
(C) 23 January (C) 23 TR
(D) 31 January (D) 31 3t

45. -Which among the following is the 45 et % & - iR I Bl ¥ Rem @2
-\-_/ ) "

Temple of Jammu-Kashmir?

(A) dwrg &t wiR

~ (A) Vaishno Devi Temple
(B) W&o wiex
(B) Sabrimala Temple

https://www.dbrauonline.com



4
6. Talchhapar Brig Sanctuary is situated

in which city?

(A) Bharatpur

(B) Alwar

(C) Bikaner

(D) Palwal

47 ".Biogas contains mainly:

(A) Methane

(B) Butane

(C) Propane

(D) Carbon-di-oxide

48. Main source of Acid Rain is:

(A) Nitrogen
+ (B) Sulphur dioxide
(C) Carbon dioxide

(D) Carbon monoxide

49, When was 'Nar Bali Pratha' declared

illegal in India?
(A) 1828
(B) 1830
(C) 1858

(D) 1856
982\812022

(16]

47.

48.

49

(D) TErae
S e 3 g S &
(A) dEH

(B) oA

(C) =

(D) T SEHTTTES
e aef &1 7 W &
(A) TSI

(B) WEWN STIINES
(C) B STITRTES
(D) B AAEES

9Ra A g ad ‘| 3 v & Fdu ofvg

o mar?
(A) 1828
(B) 1830
(C) 1858

(D) 1856
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6. Talchhapar Brid Sanctuary is situated 46

N which city> (A) HTAR
(A} Bharatpur
(B) JeTal
(B) Alwar
(C) Bikaner (©) T
(D) Palwal (D) e
47. Biogas contains mainly: 47 mwﬂwmméz
(R) Methane (A) ArF
(B) Butane (B) sRF
(C} Propane (C) W=
(D) Carbon-di-oxide (D) T STENTAZS
48 Main source of Acid Rain is: 48. ity et @ gEm W
(A) Nitrogen (A) SIS
(B) Sulphur dioxide (B) HEWR SEHTHZS
(C) Carbon dioxide (C) mm
(D) Carbon monoxide (D) T AFRTEEES
4%  When was 'Nar Bali Pratha' declared 49. WA A 59 3 R R v B 33y Ofvg
liegal in India? fasar mar?
(K 1h2H (A) 1828
f8) 1830 (B) 1830
1C) 1858 (C) 1858
(D) 18590 (D) 1856
982\B12022 (18]

https://www.dbrauonline.com



50, Which of the following is not an air

pOThitant ?

B} Witroger Gas
{(C) Carbon diovide
D Sk
Jzone iayer s found in
A} Tharmosphere
Bl Meongpherr
(€} Troposphere
(D) Stratosphere

54 Unit of noese pollution is:

(A) Herts
B} Joule
C) Decibe
D) Sound
: Wracn of thewe s not a fossil fyel?

QB.I;' ‘.f'j' WL E

&0

51

53

17}

w1 7 o any s @ b
(A) FERY ardwTIITER
(8) gy

(C) e afmeree

(D) =i
WA qea ardy o &
(A) itehrar &

(8) Ararediar &
(C) grireebier #
(D) R #
e o B g &
(A) e

(B) 3=

(C) ¥dvam

(D) @

Pt & @ oo Mo fus &
(A) giaw

(B) e

(C} Aa

(1) maptas Ay

P.T.O.
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in India?

(A) Qutubminar
. (B) Ajanta Caves

(C) Tajmahal

(D) Sanchi ka Stupa

55. The word Ecology was coined by

(A) P.D. Sharma
(B) Haeckel
(C) Tansley

(D) None of these
56. Who is known as father of Ecology in
India
(A) Prof. R.S. Ambasht
(B) Prof. S.C. Pandeya

(C) Prof. Ram Deo Mishra

(D) None of these

982\B\2022 [18]

55.

56.

a1 &7

(A) TR

(B) 3T B T
(C) AToTHE

(D) widt & &
s o & fean @

(A) .8

(B) ebel

(C) &=

(D) ¥ A B T

HRA & FPIAISN P IS B I &

(A) W 3R, 04, 3R
(B) W o9, d).quzgy
(C) . g fysyy

(D) T % o
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57. Acid Rain is 57. g aof &

(A) Excess amount of CO, and NO, (A) CO,T& NO,® it W
(B) Excess amount of CO, (8) co,® Hftrs arn

(C) Excess amount of O, (C) O,® it wrn

(D) Artificial Rain (D) PP el

58, Which layer of the Atmosphere 58. argwvUEa B B M 0 # AAA o R 2

contains the ozone responsible for the 3 UV o & ford e g -
absorption of UV light (A) ﬁm
(A) Trophosphere

(B) TTHRWIR

(B) Atmosphere

(C) RIRDIW

(C) Stratosphere

(D) All of the above (D) 3w o
59. £cosystem has main components 59, g ¥ Yo Faua &
. (A) Biotic and Abiotic (A) I e I
(B) Only Biotic (B) ¥am HMaw
(C) Only Abiotic (C) ¥ 3
(D) T ¥ P &

(D) None of the above
[19]

AsmDIANDY)
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f‘i\f.l'-_ Main source of Energy is Ecosystem is
(A) ATP
(B) ADP
(C) NaDP
(D) Sunlight
/61. Which renewal resource gets Energy
from Sun
(A) Wind
< (B) Solar
(C) Geothermal
(D) None of these
62. Which of the following is a non-renewal
energy resource
(A " Coal
(B) Wind Energy

(C) Solar Energy
- (D) Water

63. Solar Energy is the
(A) Non-Conventional
(B) Conventional
(C) (A) and (B) both

(D) None of these

[20]

982812022

60.

61.

62.

63.

sOREA S T ST e A @

(A) v.dra

(8) v.a.d.

(C) vA.edd

(D) &

T ¥ F 9 B B FHBT A 21

(A) g
(8) R

(C) samiig

(D) & A B I
gt & @b IR FH BT A 2

(A) e

(B) arg Fit
(c) IR waf

(D)
iR Fat 2

(A) R RifiE
(B) WA

(C) (A) @ (B) i

(D) T I B &
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64. Biogas Production is related to : 64. FAM F IAESR O =Y 2

(A) Action of O,

(A) O,® T &
(B) Action of CO
? (B) CO,® s J
(C) Action of NO,
(C) NO, o Rean A

(D) Action of microorganism

(D) gew Mt B v |
65. Rooftop Rain water harvesting is g5 @ 3 @ik dait ¥ Ranst fear s

technique to recharge a?
(A) Sea water (A) W 5@
(B) River water (B) T T
(C) Lake water © S
¢ (D) Ground water
(D) 43I
66. Hirakud Dam is situated on the 66. BRPUs Sy Rufy -
(A) Ganga River NRLUE
(B) Mahanandi River (B) WEM=a! )
(C) Satlaj River (C) Haeat 7
(D) Yamuna River (D) wqa
982\B\2022 [21] i
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67./ i ;
67, Which one is not a source of 67. ﬁﬂﬂ‘@iaﬂqmm@zﬂmqﬁt-

carbohydrate
(A) Gram (A) =
(B) Rice (B) w@w
+ (C) Sorghum (C) JR
(D) Wheat ©) ¥
68. Main sugar present in Honey 68. 9Ig # §& T &
(A) Maltose (A) AT
(B) Dextrose (B) SawgIst
(C) Lavulose (C) dgenst
(D) Ribose (D) EENST
69. Energy produced by Hydel-Power plant 69, 371 fag[d W3 GRT 30 il &
© (A) TWRfEd vd e

(A) Non Polluted and renewal

(B) WGEUIBRI bd IR-diaReia
(B) Polluted and Non-renewal

C) (A) wd (B) @+
(C) (A) and (B) both (C) (A)w (B)

(D) None of these (D) s=n!r A Eb*lé &

9821812022 [22]
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soil pollution i
y TR B
70.  3ff¥ SO B T

(A) Aerosol
(A) WA
(B) Ozone
(B)
(C) Acid Rain
(C) et auf
(D) None of these
(D) 7o % B A
71 Which of the following are the primary 71, afet 5g¥oT 1 Rt 3 3 B W1 &A1 BT
causes of water pollution ¢
(A) Plants (A)
* (B) Human activities (8) WA frard
(C) Animals () 3

(D) None of these

(D) F™ } B el

72, Which one of the following can cause 72, P % ¥ aiig SgEvT & BROT R+

the thermal pollution

(A) 3ERY W
(A) Residential House
(B) WX Shdi B 7y
(B) Death of Marine Organism
(C) F=t W=
+ (C) Power plants
(D) None of these (D) ¥ A o &

9821812022 [23] P.T.0.
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73. The concept of Ecological Pyramid was
first proposed by

(A) Odum
(B) Tansley
(C) Judey
(D) Eiton
74. Maximum Biodiversity found in
(A) Tropical Rain Forest
(B) Deciduous Forest
(C) Evergreen Forest
(D) None of these
7:5. The Pyramid of Energy is
(A) Always Inverted
. (B) Always Upright
(C) (A) and (B) both
(D) None of these
76. The Global

Biodiversity of plants

maximum found is
(A) Angiosperms
(B) Algae

(C) Fungi

(D) Mosses
982\B\2022

[24]

73.

74.

75.

76.

B THUA gy,

(C) (A)wd (B) A

(D) ¥ ¥ 3K T&

vt ¥ dRad R R ftwaw SR
T SRl & -

(A) sngeiah &

(B) dama

(C) 3w

(D) wtw
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47. Global warming can be controlled by
(A) Increasing Solid Waste

(B) Reducing water waste

(C) Burning Human generated waste

+ (D) Reducing Fossil fyel consumption

78. A Hotspot Biodiversity in India is
(A) Eastern Ghat
+(B) Western Ghat
(C) Gangetic Ghat
(D) All of these
79. Biodiversity is measure at
(A) Genetic Level
(B) Species Level
(C) Ecosystem Level

- (D) All of the above

80. Jim Corbett National Park is situated in

* (A) Uttrakhand

(B) U.P.
(C) M.P.

(D) Rajasthan

982812022

7.

78.

79.

mmﬁﬂﬂﬁaﬁdﬂ%ﬂ%mmm
(A) 2rg e H TG

() mmaﬁa‘mm

(©) syl 5 1 SRR R Y T

(D) Shrarew e 1 B AT BT
wia it A & aee
(A) AW

(B) ¥ATE

(€) Fits e

(D) I T
rafifirar & 0 B

(A) SHed ®R

(B) AR &R (W) TR
(C) IONTH ®R
(D) 3% Wik

80. Tom e Avma ud Rem &)

[25]

(A) IR
(8) g
(C) m.d.

(D) IGERUM

P.T.0.
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81. Flowers off mple 81.
ered to God is an exa sqfafTen & 9 g
of (A)
4o # amiae I
(A) Normal value of Biodiversity (B)
(B) Social Value of Biodiversity (©) W g W K
(C) o1 '
) OId value of Biodiversity - gﬂﬁ e T8
D .
(D) None of these Wfﬁf“’fmm%h
82. National Institute of  Disaster 82.
{
Management is Situated in India
(A) Kolkata
(B) Dehradun (B)
(C) Delhi (€
(D) Kochin (D) B
83. According to WHO which precaution 83. WHO & 38R PRI A & ford -
should be taken from coronavirus graentar A=Y Tifed|
(A) Social distance (A) T g
(B) IR & ¥4

(B) Use Mask

(C) ¥ NeTBFR BT /AT
(D) Iwges &t
84. YR IIERT Jar Rerfy &1

(C) Use of Sanitizer
+ (D) All of the above

84. Ranthambore National Park is situated

" (A) Tow

(A) Gujrat

(B); Rajasthan (B) e

(C) Kerela (C) =@

D) U.P

©) (D) 7,
9821812022 [26]
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4. ‘ozone layer is destroyed by g5 ot o T A s &

W %, (A) SO,
8) CO, (B) CO,
(€) Chlorofluorocarbons (C) FARERIBIA
(D) Use of coal (D) Fraen ¥ yam 8
g6. Eutrophication is greatest in 86, qgpeper L e &

#a & o 7@ W
(A) Ali surface Layer of deep Lakes (A) TR

B) Tl e B FR TR W
(B) Upper Layer of deep Lakes (B)

Cy T #er @ e Hag W
(C) Middle Layer of deep Lakes (©)

D) T Fa B Frach 7w W
(D) Bottom Layer of deep Lakes (D)

§7. TR & ¥ YT AT 2
87. Domestic wastes contain

(A) Non-Biodegradable pollutants (A) aﬂéﬁuﬁ‘:ﬁﬁﬁ;ﬂ'ﬂi
(B) Biodegradable pollutants (B) Stdra e e
(C) Hydrocarbons (C) EBZHIE—H
(D) None of these (D) gﬁﬁﬁ?qﬁ
88. World Environment Day is on 88. fava wfeor fiaw 21
(A) 5-May (A) 57
(8) S-July (8) 53
(€ >une (€) 53

(D) 5-August (D) 5-3M%d

982\8\2022 [27] PTO.
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. 89 a,-.ﬂ ]
89. Deforestation well decrease
(A) il
(A) Rainfall
8 ¥
(B) Soil Erosion
(C) R
(C) Cyclones
(D dsiid @ #=T 2
Landslides
| | quht 1 = 7 T st )
90.
90. Earth can be considered as
(a) o5 G T
(A) An open system

(B) A closed system

(C) (A) and (B) both

T
(D) None of the above (D) A 26
91. AQI stand for 91. AQI &1 awd ¢l
(A) Air Quality Initial (A) TR FEIferc) SRt
(C) Air Quality Internal (C) &R Fafad A
(D) Air Quality Index (D) TR TR 32
92. In India Rainforest are found in 92, WRd ¥ FERT U F1Q g
(A) Himalayas (A) femmera
B
(B) Central India (B) ®eg yRq
(C) 3R ure
(C) Eastern Ghat
(D) & % o &

(D) None of these
82\B12022 [28)
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" ‘NEERI is an organisatigp, of

93. NEERI U IT6 &
(A) Social Workers

(A) e BT

(B) Political workers (B) s PG
(C) Environmental Planning (C) R
(D) None of the above (D) 8 & B T

o4. AIDS is caused by 94. AIDS Fpe R Al &
(A) Corona Virus (A) PR AFTH
(B) HN, (B) H,N,
(C) Influenza Virus (C) FHORGE AR
(D) HIV (D) HIV

05, wifira A1 Rews BROT A 21

95. Aneamia is due to deficiency of

(A) faate A
(A) Vitamin A
o (B) feefim C
(B) Vitamin C
-~ (C) fafm B,
(C) Vitamin B,
(D) Vitamin D (D) feaf= D
96. Rickettesin childrenisduetodeficiency 9. &=t ¥ Rl dmd oot &0 &
of S 2
(A) Vitamin C (A) S
(B) Vitamin D
(8) faem D
(C) Vitamin K
(C) faafm K
(D) Vitamin E (D) -
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97. National forest policy came into force

in India :
(A) 1988
(B) 1978
(C) 1989

(D) 1990

98. Major Green House Gas is :
(A) CO
(8) Co,
(C) O,
(D) N,
99. The percentage of oxygen in
‘ Atmosphere :
(A) 11%
(B), 21%
(C) 29%

(D) 78%

100: Which one is the Herbivoure :
(A) Lion
(B) Halwk
(C) Frog

(D) Cow
121812022

[30]

g7. T

98.

99.

5 o8 o B vg
o A T

(A) 1988

8) 1978

(C) 1989

(p) 1990

qor A g W&
(A) €O

(8) CO,

(€ 0

(D) N,
argvEe § TG B A -
(A) 11%

(B) 21%

(C) 29%

(D) 78%

100. Fr=1 & B 7 oTRTd) 2 -

(A) ¥
(8) T
€) %

(D) Ty

https://www.dbrauonline.com



